

$$\Rightarrow Z_k = 2 \left[\cos \left(2\pi K + \frac{\pi}{2} \right) + i \sin \left(2\pi K + \frac{\pi}{2} \right) \right]^{\frac{1}{3}}$$

where $K=0, 1, 2$

$$Z_k = 2 \left[\cos \left(\frac{4K\pi + \pi}{6} \right) + i \sin \left(\frac{4K\pi + \pi}{6} \right) \right]$$

So put $K=0, 1, 2$, then required three roots are given by.

for $K=0$, $Z_0 = 2 \left[\cos \frac{\pi}{6} + i \sin \frac{\pi}{6} \right] = 2 \left[\frac{\sqrt{3}}{2} + \frac{i}{2} \right] \Rightarrow \boxed{\sqrt{3} + i = Z_0}$

for $K=1$, $Z_1 = 2 \left[\cos \left(\frac{4\pi + \pi}{6} \right) + i \sin \left(\frac{4\pi + \pi}{6} \right) \right] = 2 \left[\cos \frac{5\pi}{6} + i \sin \frac{5\pi}{6} \right]$
 $= 2 \left[-\frac{\sqrt{3}}{2} + \frac{i}{2} \right] \Rightarrow \boxed{Z_1 = -\sqrt{3} + i}$

and 3rd root is obtained by $K=2$, we get

$$Z_2 = 2 \left[\cos \left(\frac{8\pi + \pi}{6} \right) + i \sin \left(\frac{8\pi + \pi}{6} \right) \right] = 2 \left[\cos \frac{9\pi}{6} + i \sin \frac{9\pi}{6} \right]$$

 $= 2 \left[\cos \left(\frac{3\pi}{2} \right) + i \sin \left(\frac{3\pi}{2} \right) \right] = 2(0 - i) \Rightarrow \boxed{Z_2 = -2i}$

Part-(ii)

Find the fourth roots of each of the following complex numbers.

(a) $-16i$, (b) 64 , (c) $-2\sqrt{3} + 2i$

(a) Since we have found fourth roots of $-16i$.

So put $Z^4 = -16i = 16(0 - i)$

$$= 2^4 \left[\cos \left(-\frac{\pi}{2} \right) + i \sin \left(-\frac{\pi}{2} \right) \right]$$

$x=0, y=-1 \Rightarrow r = \sqrt{0^2 + (-1)^2} = 1$

$\cos \theta = \frac{x}{r} = \frac{0}{1} = 0 \Rightarrow \theta = \cos^{-1} 0$

$\sin \theta = \frac{y}{r} = \frac{-1}{1} = -1 \Rightarrow \theta = \sin^{-1}(-1) \Rightarrow \theta = -\frac{\pi}{2}$

$\therefore \cos \theta = 0 \Rightarrow \theta = -\frac{\pi}{2}$
 $Z^4 = 2^4 \left[\cos \left(2\pi K - \frac{\pi}{2} \right) + i \sin \left(2\pi K - \frac{\pi}{2} \right) \right]$

So fourth root of $-16i$ is

$$Z_k = 2 \left[\cos \left(2\pi K - \frac{\pi}{2} \right) + i \sin \left(2\pi K - \frac{\pi}{2} \right) \right]^{\frac{1}{4}}$$

where $K=0, 1, 2, 3$

$$= 2 \left[\cos \frac{1}{4} \left(4K\pi - \pi \right) + i \sin \left(4K\pi - \pi \right) \frac{1}{4} \right]$$

$$Z_k = 2 \left[\cos \left(\frac{4K\pi - \pi}{4} \right) + i \sin \left(\frac{4K\pi - \pi}{4} \right) \right], K=0, 1, 2, 3 \rightarrow \textcircled{1}$$

Easy

2nd Method

Now

$$x^4 + x^2 + 1 = 0$$

Put $x^2 = y$

$$y^2 + y + 1 = 0$$

$$y = \frac{-1 \pm \sqrt{1-4}}{2} = \frac{-1 \pm \sqrt{-3}}{2}$$

$$x^2 = \frac{-2 \pm 2\sqrt{-3}}{4}$$

$$= \frac{-2 \pm 2 \cdot 1 \cdot \sqrt{-3}}{4}$$

$$= \frac{(1-3) \pm 2 \cdot 1 \cdot \sqrt{-3}}{4}$$

$$x^2 = \frac{1^2 + (\sqrt{-3})^2 \pm 2 \cdot 1 \cdot \sqrt{-3}}{4}$$

$$x^2 = \left(\frac{1 \pm \sqrt{-3}}{2} \right)^2$$

$$x = \pm \left(\frac{1 \pm \sqrt{-3}}{2} \right)$$

$$\Rightarrow x = \frac{1 \pm \sqrt{3}i}{2}, \frac{-1 \pm \sqrt{3}i}{2}$$

$$x = \frac{1 + \sqrt{3}i}{2}, \frac{1 - \sqrt{3}i}{2}, \frac{-1 + \sqrt{3}i}{2}, \frac{-1 - \sqrt{3}i}{2}$$

We see that the twelve roots of $x^{12} = -1$ satisfy the roots of equation $x^4 + x^2 + 1 = 0$

Q. 10 Expand the following in series of Sines or Cosines of multiple of θ

(i) $\cos^4 \theta$

So let $x = \cos \theta + i \sin \theta$, then $\frac{1}{x} = \frac{\cos \theta - i \sin \theta}{\cos^2 \theta + \sin^2 \theta} = \cos \theta - i \sin \theta$

$$\Rightarrow x + \frac{1}{x} = 2 \cos \theta$$

$$\text{So } (2 \cos \theta)^4 = \left(x + \frac{1}{x} \right)^4$$

$$\begin{aligned} 2^4 \cos^4 \theta &= x^4 + 4x^3 \left(\frac{1}{x} \right) + \frac{4 \cdot 3}{2 \cdot 1} x^2 \left(\frac{1}{x} \right)^2 + \frac{1}{x^4} \\ &= x^4 + 4x^2 + 6 + \frac{4}{x^2} + \frac{1}{x^4} \end{aligned}$$

Preview from Notesale.co.uk
page 18 of 38

Q-10

$$\sin^9 \theta = ?$$

1-2-22

SOL:-

Let $x = \cos \theta + i \sin \theta$ then
 $\frac{1}{x} = \cos \theta - i \sin \theta$

$$\Rightarrow x - \frac{1}{x} = 2i \sin \theta$$

$$\Rightarrow (2i \sin \theta)^9 = \left(x - \frac{1}{x}\right)^9$$

$$\begin{aligned} 2^9 i^9 \sin^9 \theta &= x^9 - 9x^8 \cdot \frac{1}{x} + \frac{9 \cdot 8 x^7}{2 \cdot 1 \cdot x^2} - \frac{9 \cdot 8 \cdot 7}{3 \cdot 2 \cdot 1} \frac{x^6}{x^3} + \frac{9 \cdot 8 \cdot 7 \cdot 6}{4 \cdot 3 \cdot 2 \cdot 1} \frac{x^5}{x^4} \\ &\quad - \frac{9 \cdot 8 \cdot 7 \cdot 6 \cdot 5}{5 \cdot 4 \cdot 3 \cdot 2 \cdot 1} \frac{x^4}{x^5} + \frac{9 \cdot 8 \cdot 7 \cdot 6 \cdot 5 \cdot 4}{6 \cdot 5 \cdot 4 \cdot 3 \cdot 2 \cdot 1} \frac{x^3}{x^6} - \frac{9 \cdot 8 \cdot 7 \cdot 6 \cdot 5 \cdot 4 \cdot 3}{7 \cdot 6 \cdot 5 \cdot 4 \cdot 3 \cdot 2 \cdot 1} \frac{x^2}{x^7} \\ &\quad + \frac{9 \cdot 8 \cdot 7 \cdot 6 \cdot 5 \cdot 4 \cdot 3 \cdot 2}{8!} \frac{x}{x^8} - \frac{1}{x^9} \end{aligned}$$

$$\begin{aligned} 2^9 i^9 \sin^9 \theta &= x^9 - 9x^7 + 36x^5 - 84x^3 + 126x - \frac{126}{x} \\ &\quad + \frac{84}{x^3} - \frac{36}{x^5} + \frac{9}{x^7} - \frac{1}{x^9} \end{aligned}$$

$$\begin{aligned} 2^9 i^9 \sin^9 \theta &= x^9 - 9x^7 + 36x^5 - 84x^3 + 126x - \frac{126}{x} \\ &\quad + \frac{84}{x^3} - \frac{36}{x^5} + \frac{9}{x^7} - \frac{1}{x^9} \end{aligned}$$

Preview from Notesale.co.uk
 Page 22 of 38

$$\begin{aligned} &\left(x^9 - \frac{1}{x^9}\right) - 9\left(x^7 - \frac{1}{x^7}\right) + 36\left(x^5 - \frac{1}{x^5}\right) - 84\left(x^3 - \frac{1}{x^3}\right) \\ &\quad + 126\left(x - \frac{1}{x}\right) \end{aligned}$$

$$\begin{aligned} &= 2i \sin^9 \theta - 9(2i \sin^7 \theta) + 36(2i \sin^5 \theta) - 84(2i \sin^3 \theta) \\ &\quad + 126(2i \sin \theta) \end{aligned}$$

$$2^9 i^9 \sin^9 \theta = 2i \left(\sin^9 \theta - 9 \sin^7 \theta + 36 \sin^5 \theta - 84 \sin^3 \theta + 126 \sin \theta \right)$$

$$\sin^9 \theta = \frac{1}{2^8} \left(\sin^9 \theta - 9 \sin^7 \theta + 36 \sin^5 \theta - 84 \sin^3 \theta + 126 \sin \theta \right)$$

Ans.

vi Q-10

$$\sin^6 \theta \cos^2 \theta = ?$$

SOL:-

Let $x = \cos \theta + i \sin \theta$ then $\frac{1}{x} = \cos \theta - i \sin \theta$

$$\Rightarrow x - \frac{1}{x} = 2i \sin \theta$$

$$2^4 \{ \cos^4 \theta + \sin^4 \theta \} = 2 \left\{ x^4 + 6 + \frac{1}{x^4} \right\} \quad (2^4 = 16)$$

$$\cos^4 \theta + \sin^4 \theta = \frac{1}{2^3} \left\{ \left(x^4 + \frac{1}{x^4} \right) + 6 \right\} = \frac{1}{8} \{ 2 \cos^4 \theta + 6 \}$$

$$\boxed{\cos^4 \theta + \sin^4 \theta = \frac{1}{4} \{ \cos^4 \theta + 3 \}}$$

1.2-26

Q.12 Prove that $64(\cos^8 \theta + \sin^8 \theta) = \cos 8\theta + 28 \cos 4\theta + 35$

SOL. Let $x = \cos \theta + i \sin \theta$ } $\Rightarrow x + \frac{1}{x} = 2 \cos \theta$
 $\frac{1}{x} = \cos \theta - i \sin \theta$ } and $x - \frac{1}{x} = 2i \sin \theta$

$$(2 \cos \theta)^8 + (2i \sin \theta)^8 = \left\{ \left(x + \frac{1}{x} \right)^8 + \left(x - \frac{1}{x} \right)^8 \right\}$$

$$\frac{1}{2} (\cos^8 \theta + \sin^8 \theta) = \left\{ \begin{aligned} & \frac{x^8 + 8x^7 \cdot \frac{1}{x} + \frac{8 \cdot 7}{2} x^6 \cdot \frac{1}{x^2} + \frac{8 \cdot 7 \cdot 6}{6} x^5 \cdot \frac{1}{x^3} + \frac{8 \cdot 7 \cdot 6 \cdot 5}{24} x^4 \cdot \frac{1}{x^4} + \frac{8 \cdot 7 \cdot 5 \cdot 4}{120} x^3 \cdot \frac{1}{x^5} + \frac{8 \cdot 7 \cdot 4 \cdot 3 \cdot 2}{720} x^2 \cdot \frac{1}{x^6} + \frac{1}{x^8} \\ & + \frac{8 \cdot 7 \cdot 6 \cdot 5 \cdot 4}{5 \cdot 4 \cdot 3 \cdot 2} x^5 \cdot \frac{1}{x^5} + \frac{8 \cdot 7 \cdot 5 \cdot 4 \cdot 3}{8 \cdot 7 \cdot 5 \cdot 4 \cdot 3} x^4 \cdot \frac{1}{x^4} + \frac{8 \cdot 7 \cdot 4 \cdot 3 \cdot 2}{1 \cdot 6 \cdot 5 \cdot 4 \cdot 3 \cdot 2} x^3 \cdot \frac{1}{x^3} + \frac{1}{x^8} \end{aligned} \right\}$$

$$\frac{1}{2} (\cos^8 \theta + \sin^8 \theta) = 2 \left\{ x^8 + 28 x^6 \cdot \frac{1}{x^2} + 70 + 25 \cdot x^2 \cdot \frac{1}{x^6} + \frac{1}{x^8} \right\}$$

$$= 2 \left\{ \left(x^8 + \frac{1}{x^8} \right) + 28 \left(x^4 + \frac{1}{x^4} \right) + 70 \right\}$$

$$= 2 \left\{ 2 \cos 8\theta + 28 (2 \cos 4\theta) + 70 \right\}$$

$$2^3 (\cos^8 \theta + \sin^8 \theta) = 2^7 \{ \cos 8\theta + 28 \cos 4\theta + 35 \}$$

$$\Rightarrow 64 (\cos^8 \theta + \sin^8 \theta) = \cos 8\theta + 28 \cos 4\theta + 35$$

Proved.

Q.17 Prove the following relations ($\forall m, n \text{ belong to } \mathbb{Z}$
 $m \text{ and } n \text{ are integer}$)

(i) $z^m z^n = z^{m+n}$

1.2-35

Proof let $z = r(\cos \theta + i \sin \theta)$

$$\Rightarrow z^m = r^m (\cos \theta + i \sin \theta)^m$$

$$z^m = r^m (\cos m\theta + i \sin m\theta)$$

Similarly $z^n = r^n (\cos n\theta + i \sin n\theta)$

Then L.H.S. = $z^m z^n$

$$= r^m (\cos m\theta + i \sin m\theta) r^n (\cos n\theta + i \sin n\theta)$$

$$= r^m r^n (\cos m\theta + i \sin m\theta) (\cos n\theta + i \sin n\theta)$$

$$= r^{m+n} \left(\begin{aligned} &(\cos m\theta \cos n\theta - \sin m\theta \sin n\theta) \\ &- i (\sin m\theta \cos n\theta + \sin n\theta \cos m\theta) \end{aligned} \right)$$

$$= r^{m+n} (\cos(m+n)\theta + i \sin(m+n)\theta)$$

$$= r^{m+n} (\cos(m+n)\theta + i \sin(m+n)\theta)$$

$$= r^{m+n} (\cos \theta + i \sin \theta)^{m+n} \text{ by De Moivre's Th.}$$

$$= z^{m+n} = \text{R.H.S.}$$

× × ×

(ii) $(z^m)^n = z^{mn}$

Proof:- let $z = r(\cos \theta + i \sin \theta)$

$$\Rightarrow z^m = r^m (\cos \theta + i \sin \theta)^m \text{ (De Moivre's Th.)}$$

$$z^m = r^m (\cos m\theta + i \sin m\theta)$$

$$\Rightarrow (z^m)^n = r^{mn} (\cos m\theta + i \sin m\theta)^n \text{ (De Moivre's Th.)}$$

$$\begin{aligned} \text{L.H.S.} &= (Z^n)^n = r^{mn} \left\{ \cos mn\alpha + i \sin mn\alpha \right\} \\ &= r^{mn} \{ \cos + i \sin \} \\ &= Z^{mn} = \text{R.H.S.} \end{aligned}$$

$$(iii) \quad (Z_1 Z_2)^n = Z_1^n Z_2^n$$

PROOF Let $Z_1 = r_1 \{ \cos \theta_1 + i \sin \theta_1 \}$ and $Z_2 = r_2 \{ \cos \theta_2 + i \sin \theta_2 \}$

$$\begin{aligned} \text{Hence } Z_1 Z_2 &= r_1 \{ \cos \theta_1 + i \sin \theta_1 \} \cdot r_2 \{ \cos \theta_2 + i \sin \theta_2 \} \\ &= r_1 r_2 \{ \cos \theta_1 + i \sin \theta_1 \} \{ \cos \theta_2 + i \sin \theta_2 \} \\ &= r_1 r_2 \{ (\cos \theta_1 \cos \theta_2 - \sin \theta_1 \sin \theta_2) + i (\sin \theta_1 \cos \theta_2 + \cos \theta_1 \sin \theta_2) \} \\ Z_1 Z_2 &= r_1 r_2 \{ \cos(\theta_1 + \theta_2) + i \sin(\theta_1 + \theta_2) \} \end{aligned}$$

$$\text{H.S.} = (Z_1 Z_2)^n = r_1^n r_2^n \{ \cos(\theta_1 + \theta_2) + i \sin(\theta_1 + \theta_2) \}^n$$

$$\begin{aligned} Z &= r \{ \cos \theta + i \sin \theta \} \\ Z^n &= \{ r \{ \cos \theta + i \sin \theta \} \}^n \\ &= r^n \{ \cos \theta + i \sin \theta \}^n \\ &= r^n \{ \cos n\theta + i \sin n\theta \} \end{aligned}$$

by De Moivre's theorem

$$\begin{aligned} &= r_1^n r_2^n \{ \cos n(\theta_1 + \theta_2) + i \sin n(\theta_1 + \theta_2) \} \\ &= r_1^n r_2^n \{ \cos(n\theta_1 + n\theta_2) + i \sin(n\theta_1 + n\theta_2) \} \\ &= r_1^n r_2^n \{ (\cos n\theta_1 \cos n\theta_2 - \sin n\theta_1 \sin n\theta_2) + i (\sin n\theta_1 \cos n\theta_2 + \cos n\theta_1 \sin n\theta_2) \} \\ &= r_1^n r_2^n \{ (\cos n\theta_1 \cos n\theta_2 + i \sin n\theta_1 \sin n\theta_2) + i (\sin n\theta_1 \cos n\theta_2 + \cos n\theta_1 \sin n\theta_2) \} \\ &= r_1^n r_2^n \{ (\cos n\theta_1 \cos n\theta_2 + i \cos n\theta_1 \sin n\theta_2) + (i \sin n\theta_1 \cos n\theta_2 + i \sin n\theta_1 \sin n\theta_2) \} \\ &= r_1^n r_2^n \{ \cos n\theta_1 (\cos n\theta_2 + i \sin n\theta_2) + i \sin n\theta_1 (\cos n\theta_2 + i \sin n\theta_2) \} \\ &= r_1^n r_2^n \{ (\cos n\theta_1 + i \sin n\theta_1) (\cos n\theta_2 + i \sin n\theta_2) \} \\ &= r_1^n (\cos n\theta_1 + i \sin n\theta_1) \cdot r_2^n (\cos n\theta_2 + i \sin n\theta_2) \\ &= r_1^n (\cos \theta_1 + i \sin \theta_1)^n \cdot r_2^n (\cos \theta_2 + i \sin \theta_2)^n \\ &= Z_1^n Z_2^n = \text{R.H.S.} \end{aligned}$$